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QUESTION 1

Which two components are built into the vCenter Server Appliance 6.x? (Choose two.)
A. vSphere Auto Deploy

B. vCenter Converter

C. vRealize Orchestrator

D. VMware vSphere Update Manager

Correct Answer: AD

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.5/com.vmware.vsphere.install.doc/GUID78933728-7F02-43AF-ABD8-0BDCE10418A6.html

QUESTION 2

A vSphere administrator notices that sometimes they receive poor network throughput for multiple port groups that
reside on a vSwitch with multiple physical uplinks (vmnics). The configuration on the ESXi host is identical to other hosts
that are working properly in the same cluster.

What should be done next?

A. Add additional port groups the v Switch.

B. Add additional resources to the virtual machines that are powered on.

C. Restart Management agents in ESXi Direct Console User Interface (DCUI).

D. Alter the failover order of the vmnics until a bad vmnic is found.

Correct Answer: B

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.5/com.vmware.vsphere.monitoring.doc/GUIDC4EA86FD-95CB-4DE7-A9E3-63F6BFC1A268.html

QUESTION 3

What three tools or products can be used for monitoring a vSphere 6.x deployment? (Choose three.)
A. vCenter Alarms

B. vCenter Events

C. vRealize Automation

D. vRealize Operations Manager

E. vRealize Orchestrator
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Correct Answer: ADE

QUESTION 4

When using vVSAN, all the storage characteristics are specified by Storage Policies.

Which parameter in vSAN Storage Policies can increase performance in a cache miss situation?
A. Number of failures to tolerate

B. Number of disk stripes per object

C. Force provisioning

D. Object space reservation (%)

Correct Answer: B

Reference: https://blogs.vmware.com/virtualblocks/2016/09/19/vsan-stripes/

QUESTION 5

Which two statements are correct when licensing an ESXi 6.x host? (Choose two.)
A. ESXi licenses can only applied to ESXi hosts connected to a vCenter Server.

B. Bulk licensing requires vSphere Auto Deploy to be enabled.

C. ESXi licenses can be assigned utilizing the ESXi host client.

D. Bulk licensing requires vSphere PowerCLI.

Correct Answer: CD

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.5/com.vmware.vsphere.install.doc/GUID28D25806-748B-49C0-97A1-E7DE5CB335A9.html
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